Chem 231 
PS 8.2
8/18/2009

More Addition Reactions of Alkenes
page 1
NAME _________________________________
due date _______________


1.  Draw the expected product from the following.
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2.  Complete these short syntheses.  Draw the missing structures.
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3.   Synthesis of trialkylboranes from alkenes:
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4.  Synthesis of alcohols via hydroboration-oxidation:
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5.  Protonolysis of trialkylboranes.  Acetic acid reacts with trialkyl boranes and replaces the boron atom with a hydrogen atom; the result is a saturated compound with a hydrogen isotope.  Deuterated borane will deliver a deuterium (or tritium) atom instead of a hydrogen atom to give a deuterium (or tritium-labeled) trialkylborane. Deuterium-labeled  (or tritium-labeled) acetic acid will replace boron with a deuterium atom (or tritium atom).
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